15. S‘Iftlng Arrangement

Ex.1 Sevenpeople-A,B,C,D,EF and G are standing in a single line, facing North: E is somewhere ahead of F.
There is exactly orie person standing between C and G. D is immediately behind A. F is behind both B and D.

I D and C are fourth and fifth in hrF resgaec’nvely, then which of the following must be true?
(1) Ais first (2)B 's firs {3) Fissixth , (4) F is seventh

Ans. (3)
Sol. D isimmediately behind Aie.. A.D
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D and C are fourth and fifth respectively i.e.,
A, D,C
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There is exactly one person between Cand Gie.,
_,ADC_, G

Fis behind B, D and E. So, F is between C and G while the first two position are taken by Band E.
Thus, the sequence becomes:
B/E,B/E,A,D,C,F G
Clearly, F is sixth in the line.

Ex.2 Study the given information carefully and answer the questions that follow:
()A,B,C,D,E, Fand Gare sxtbng on a wall and all of them are facing east.
(i} C is on the immediate right of D.
(iii) B is'at an extreme end and has E as his neighbour.
(iv) G is between Eand F. ’

(v} Dissitting third from the south end.
1.  Who sitiing to the right of E?

e O U - e b e 40 o e

(DA @C ‘ @G - @F
2. Which of the following pairs of people are sitting at the extreme ends? '
{I)AandB - {2)AandE - 3)CandB . {4)Fand B
3. Namé the peréon who should change place with C such nat he is at the third place from the north end.
(1) E 2 F ‘ 3G 4D
4.  Immediately between which of the following pairs of people D sitting?
(1) AandC {2)Aand F . (3)CandE {4 Cand F
5.  Which of the conditions {i) to (v) given is not required to find out the place in which A is sitting ?
(1) i) {2) (i) (3) (iii) ) (4) All are required

Sol. Cisto theright of D.
D is third from south. So, B will be at the extreme end from north because its
is between E and F. So, the sequence s :
B— ' :
E—
G-
F — East
Do
C- : . L
A ' o ’ -
1.

hould have E as its neighbour. G

(3) Gissitting fo the nght of E.
(1) A and B aie sittmg at the extreme ends.
{3} G shouid change p!ace with C to make it third from rxorth

(4) D is sitting between C and F.
{4) Al the statements aré reqqred 1o determine the correct sequen”e
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7.:..3 5tudy the following information to answer the given questions:

Sol.

- Thus, the seating arrangement is as shown. o i

{iii) between Q and P

P.Q.R,S, T.U,Vand Ware eight friends sitting around a circle iacing towards the .centre.

- (i) W is on the immediate left of P but is not the neighbour of T or S.

(i) U is on the immediate n‘ghf of Q and V is the neighbour of T

(i) Risbetween TandU.

Which of the following statements is true? ‘

(1) T is between U and Q. {2) U is the neighbour of V.
(3) Vis between Wand T (4) W is between P and S.
What is the positlon of S?

(1) On the immediate left of Q (2} Second to the right of U

{4) On the immediate left of P

(3) Bétween QandU

W is on the immediate left of P. So, anticlockwise, we have: WP. R Y ;
U is on the immediate right of Q, R is between T and U, Visthe T Q
neighoour of T: So-antidockwise, we have: QURTV. . . .
Since W is not the neighbour of S, 50 S does nof st between V. v S

and W. So, S sits between P and Q.

o
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(3) T is between R and V : U is the neighbour of Q and R ; V is between W and T; W is between V and
(1} S's position is » ‘ '

(i} on the immediate left of Q {ii) second to the left of U

{iv} on the immediate right of P



EXERCISE

1.

2.

3.

4.

5.

A,B,P,Q, Y and Z are sitting in a row. P and Q are at the two ends. A and Z are at center. Y is right of P. Who

is third left of B? :
()P Va4 ' 3Y @R

P,Q,R,S, T, and U are sitting in a row facing north. G and T are at the center.S and P are at two ends. Ris
between T and P. Who is left of S7

()P _ {2)R 3T 4y

A, B, C, D and E are sitting on a bench A is sitting next to D, B is sitting on one end of the bench on Left side.
D is sitting after E and B. In which position A is sitting?

(1) Between DandC ~ (2)Between Eand B . (3)Between CandE (4} None

A, B, C, D, E and F are sitting around a round table. A is between E and F, E is opposite to D. and C is not in
either of the neighbouring seats of E. Who is opposite to B? , ,

(Hc 2D (3} F {4) None of these

Six persons A, B, C, D, E and F are standing in a circle. Bis between D and C. A is between Eand C. Fistothe
right of D.Who is between A and F?

TT@mB T @c " @b WE

10.

11.

Directions(Q.6 to Q 11) : Read the following information carefully and the questions given below :
. A, B,C,D,E, Fand G are sitting in a row facing north. '

E. Cisimmediate right of G

. The person who is fourth to the right of C, is on one of the ends.

V. Only one person between B and C

V. Gand D are not neighbours.

What is the position of B?

(1) Between Eand C ' (2) At the right end -
3 Attheleftend - (@FfhtotherightofC
Who is to the left of D? i
G (2} A (3 E WF
Who are the neighbours of E? .
{1)Cand A {2)Band C (3YBandD {@BandF
Who s to the right of G? | ' |
e (2)D (3}F 4 E
Which following statements are false? ‘
(1) Fis to the left of D (2) Fis to the right of G .

: {4) B is.at the right end

{3) B and C areneighbours of E

Who is to the righf of A? v
(BE (2)C (3)B {4) None of these ~

Directions(Q.12 to :Q. 18 ) : Read the following information’s carefully and answer the questions given below it:
L SixfrendsP, Q,R, S, T and U are standing in two rows facing one another, ‘ '
- AI.--Pis in the middle of one row. ' ‘

[I. Uisthe left of S and facing R. -

V. Qand T are not in the same row

V. Only one person between Rand T.

Which of.the.foliowing_ in the:same Row? o eipe e
(U, S,erd T (20U, Q,and P 3)R.Pand T @ UR andQ



14.
15.
16.
17.

18.

19.
20.

21.

22.

- 23.
24.

25.

After @terchanging the places of R and T who is to the right of T?

(1P (@R L QU (4) None of these
Who is to the left of S? »
P @u fo@s @Q
Who faces P? ‘ )
1 2T - @3S (@u
Which of the following pairs are facing each otheif?
()RS (2) TU . @PU @T1Q
Who among these is not facing each other?
(1)PQ (2)RU © 3PS @) TQ

Which of the following statements is definitely tmé?
(1) PQ is facing each other :

(3} Uis the left of S ‘' {#)Noneof these
Direction(Q19 to Q 25) : Read the following mformatlon carefully and answer the queshons given below:

(2) T faces P

. A,B,C,D,EandFare six friends are s:mng m a circle facing the center.

&

- 1. Fisthe 4™ leftof E o 1 Ny
Il Aisnot between D and E but some other ong :
IV. Cisnext left of F. %
Who is to the left of D? ‘ § .
(LA @2c Y . @B @4E
Who is to the right of E? T -
(1B @A . @c @F
Wha is to the third right of C? : , o ,
wme - (@b @A - ME L
Who is facing D? ‘ . é - ‘
(WF . @E i @A @c
IfFand E mterchangmg the positions then whnch of the following pair will sit together?
(1) AD (2) FF ~ ‘ (3} CA {4) DE
What is the position of E? i S
(1) Left of F (2) Third right of B ﬁj © (3)Between CandB  (4)None
Who s sitting just right to D? B o o -
L @F - ®E

mB @A




